
Question Answer

1

a) The difference between 1 and −3 is 4
b) The difference between −2 and 4 is 6
c) The difference between 5 and −4 is 9
The difference is equal to the sum of the values of the two numbers without their signs.

2

a) 4
b) 4
c) 8
d) 8
The number of jumps to zero is equal to the value of the number without its sign.

3
7
The difference is equal to the sum of the values of the two numbers without their signs.

4

a) The difference between 2 and −3 is 5
b) The difference between −3 and 7 is 10
c) The difference between 1 and −6 is 7
d) The difference between −9 and 9 is 18

5

a) 38
b) 31
c) 85
d) 145
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8
Annie
When finding the difference between 2 and 5, Ron has ignored the negative sign before 5
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